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4. Find the eguation of the straight line which is tangent to the curve [

x* + y? = 3 at the point {-1,-2). 8
| d - 2
. g W"—‘ o= % fxir) = 2x 4 Z f/ﬁ-‘%
: i LV i X Sy A ’
%%)%G%J%%eﬂa S o
7 S D 1
AT A

3. A osemi-circular ofl spill is spreading from an oii tanker beached on the coast
of Kuwalt. When the oil slick has spread 10 miles out, it is observed to be
spreading at the rate of 2 miles per day, At what rate is the area of the of] e ~4V-202"
spill changing? Extra credit: At what rate {s the oil leaking from the tanker?
(Suppose that 100 barreis of oil will cover one square mile.) {10}
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Let the function f be given by
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as the limit of Riemann sums, and check.
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8. Find the following integrals:
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10, Find the area between the curve i = x* - x2 and the x-axis.
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t1. Find the volume of the solid generated by revolving about the x-axis the region
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13, Extra credit: What is the \Qelume of a sphere of radius 4 which has a hole of
radius one drilled through it?
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